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1. Système	
  à	
  trois	
  niveaux	
  

	
  
Soit	
  un	
  système	
  à	
  trois	
  niveaux,	
  N1,	
  N2,	
  et	
  N3.	
  Le	
  pompage	
  s’effectue	
  de	
  N1	
  à	
  N3	
  et	
  les	
  
atomes	
  du	
  niveau	
  3	
  sont	
  transférés	
  rapidement	
  dans	
  le	
  niveau	
  2.	
  La	
  transition	
  laser	
  
s’effectue	
  entre	
  les	
  niveaux	
  2	
  et	
  1.	
  Les	
  équations	
  pertinentes	
  s’écrivent	
  maintenant	
  :	
  
	
  
dN2

dt
= Rp − ΦB N2 − N1( ) − N2

τ
dΦ
dt

= VaBΦ N2 − N1( ) − Φ
τ c

N1 + N2 = Nt

	
  

	
  
où,	
  dans	
  ce	
  cas	
  ci,	
   Rp =WpN1 .	
  Soit	
  N = N2 − N1 	
  la	
  différence	
  de	
  population	
  entre	
  les	
  
niveaux	
  2	
  et	
  1.	
  
	
  
a) Réécrivez	
  les	
  équations	
  ci-­‐dessus	
  en	
  termes	
  de	
  N 	
  et	
  Nt .	
  

b) Montrez	
  que	
  le	
  seuil	
  pour	
  l’effet	
  laser	
  se	
  produit	
  lorsque	
  N = Nc =
γ
σ

,	
  comme	
  dans	
  

le	
  cas	
  à	
  quatre	
  niveaux.	
  
	
  

c) Montrez	
  que	
  le	
  taux	
  de	
  pompage	
  seuil	
  s’écrit	
  maintenant	
  
	
  

Rpc =
γ

στ
1+ D( )  ,   D =

σNt

γ
	
  

	
  
Tous	
  autres	
  paramètres	
  étant	
  égaux,	
  le	
  taux	
  de	
  pompage	
  seuil	
  est	
  donc	
  plus	
  élevé	
  
dans	
  un	
  système	
  à	
  3	
  niveaux	
  par	
  rapport	
  à	
  un	
  système	
  à	
  4	
  niveaux.	
  
	
  

d) Montrez	
  que	
  le	
  rendement	
  du	
  laser	
  ηs =
dPout
dPp

= ηp
γ 2
2γ
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⎠⎟
,	
  soit	
  la	
  même	
  

expression	
  que	
  pour	
  un	
  système	
  à	
  4	
  niveaux.	
  Ce	
  résultat	
  est	
  a	
  priori	
  surprenant	
  
puisqu’il	
  y	
  a	
  maintenant	
  des	
  pertes	
  supplémentaires	
  dues	
  à	
  l’absorption	
  des	
  photons	
  
laser	
  par	
  les	
  atomes	
  dans	
  le	
  niveau	
  1.	
  Toutefois,	
  ces	
  atomes	
  sont	
  transférés	
  dans	
  le	
  
niveau	
  N2 	
  et	
  peuvent	
  donc	
  aussi	
  contribuer	
  à	
  l’émission	
  stimulée.	
  

	
  
2. Laser	
  He-­‐Ne	
  

	
  
Soit	
  un	
  laser	
  He-­‐Ne	
  dont	
  les	
  caractéristiques	
  sont	
  les	
  suivantes	
  :	
  
	
  
Système	
  à	
  quatre	
  niveaux;	
  
λ = 632,8 	
  nm;	
  
R1 = 0,998;   R2 = 0,985; 	
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Le = 70 cm;   = 60 cm;  Ab = 0,5 mm; 	
  
Taux	
  d’émission	
  spontanée	
  :	
  1, 4 ×106  s−1 ;	
  	
  
Taux	
  de	
  recombinaison	
  dû	
  aux	
  collisions	
  :	
  107  s−1 ;	
  
Largeur	
  de	
  bande	
  homogène	
  (profil	
  de	
  Lorentz)	
  :	
  ΔνH = 30 MHz; 	
  
Température	
  du	
  gaz	
  :	
  500	
  K.	
  
	
  
	
  
a) La	
  section	
  efficace	
  de	
  transition	
  peut	
  se	
  mettre	
  sous	
  la	
  forme	
  

	
  

σ (ν) = σ totg(ν − ν0 ) = σmax

g(0)
g(ν − ν0 ),   g(ν − ν0 )

0

∞

∫  dν = 1, 	
  

	
  
où	
   g(ν − ν0 ) 	
   représente	
   le	
   profil	
   de	
   Lorentz	
   de	
   la	
   bande	
   homogène.	
   Soit	
   de	
   plus

P(ν − ν0 ) 	
  le	
  profil	
  d’élargissement	
  inhomogène,	
  avec	
   P(ν − ν0 ) dν = 1
0

∞

∫ .	
  

	
  
Montrez	
  que	
  le	
  coefficient	
  de	
  gain	
  s’écrit	
  alors	
  
	
  

α g (ν) = σ totP(ν − ν0 )N2 	
  
	
  

b) Que	
  vaut	
   la	
  différence	
  de	
  population	
   Nc 	
  au	
  seuil	
  de	
  l’effet	
   laser	
  si	
   les	
  seules	
  pertes	
  
proviennent	
  des	
  miroirs	
  de	
  fin	
  de	
  cavité?	
  

	
  
c) Que	
  vaut	
  l’intensité	
  de	
  saturation	
   Is 	
  en	
  ν = ν0 ?	
  

	
  
d) On	
   bloque	
   l’effet	
   laser	
   en	
   introduisant	
   un	
   obturateur	
   dans	
   la	
   cavité	
   laser.	
   La	
  

puissance	
   de	
   pompage	
   est	
   	
   telle	
   que	
   la	
   différence	
   de	
   population	
   non	
   saturée	
   vaut	
  
′N2 = 9 ×1016  m−3 .	
   Si	
   on	
   enlève	
   l’obturateur,	
   quelle	
   sera	
   la	
   puissance	
   de	
   sortie	
   du	
  

laser?	
  
	
  
	
  


